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M.Com. DEGREE EXAMINATION, DECEMBER – 2018 

Second Year 

INTERNATIONAL BUSINESS 

Time : 3 Hours  Maximum Marks : 70 

     SECTION - A 

     Answer any four of the following  (4 × 5 = 20) 

 

Q1) a) IMF 

  IMF 

 b) SEZ’s 

  SEZ Ë$ 

 c) Free trade 
  E_™èþ Ð@þÆæÿ¢Mæü… 

 d) International trade 
  A…™èþÆ>j¡Ä¶ý$ Ð@þÆæÿ¢Mæü… 

 e) MNC’s 
  MNC Ë$ 

 f) LDC’s 

  LDC Ë$ 

 g) International Negotiations 
  A…™èþÆ>j¡Ä¶ý$ »ôýÆæÿÝëÆ>Ë$ 

 h) Strategic planning 
  Ð@þNÅà™èþÃMæü {ç³×êãMîüMæüÆæÿ×ý 
     SECTION - B 

     Answer any two of the following (2 × 10 = 20) 

Q2) Explain stages of internalization.  
 A…™èþÆ>j¡Ä¶ý$MæüÆæÿ×ýÌZ §æþÔ¶ýË¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

Q3) Define strategic management. Discuss its nature, scope and objectives. 
 Ð@þNÅà™èþÃMæü °ÆæÿÓçßý×ý¯@þ$ °ÆæÿÓ_…_, §é° çÜÓ¿êÐ@þ…, ç³Ç«̈  Ð@þ$ÇÄ¶ý¬ E§óþªÔ>ÅË¯@þ$ è̂þÇa…ç³#Ð@þ¬. 



   

 

Q4) Explain briefly the regional trade blocks.  
 {́ ë…¡Ä¶ý$ Ð@þÆæÿ¢Mæü »êÏMæü$Ë¯@þ$ Mæü$Ïç³¢…V> ÑÐ@þÇ…ç³#Ð@þ¬. 

Q5) Explain the organizational structure of MNC’s 
 MNC’ Ë Äñý¬MæüP Ð@þÅÐ@þÝë¦Væü™èþ °ÇÃ†° ÑÐ@þÇ…ç³#Ð@þ¬. 

SECTION - C 

    Answer any two of the following (2 × 15 = 30) 

Q6) Explain various cultural factors affecting the negotiation process in international 

business. 
 A…™èþÆ>j¡Ä¶ý$ ÐéÅ´ëÆ>ÌZÏ çÜ…{ç³¨…ç³#Ë {ç³“MìüÄ¶ý$¯@þ$ {ç³¿êÑ™èþ… ó̂þõÜ Ýë…çÜP –†Mæü M>ÆæÿM>Ë¯@þ$ 

ÑÐ@þÇ…ç³#Ð@þ¬. 

Q7) What is the role of international organizations in business negotiations?  
 ÐéÅ´ëÆæÿ çÜ…{ç³¨…ç³#ËÌZ A…™èþÆ>j¡Ä¶ý$ çÜ…çÜ¦Ë ´ë{™èþ HÑ$sìý? 

Q8) State the differences between international trade and domestic trade. 
 §óþÖÄ¶ý$ Ð@þÆæÿ¢Mæü… Ð@þ$ÇÄ¶ý¬ A…™èþÆ>j¡Ä¶ý$ Ð@þÆæÿ¢M>Ë Ð@þ$«§æþÅ Ñ¿ôý¨…ç³#Ð@þ¬. 

 

Q9) Explain the positive and negative impacts of MNC’s on India. 

 ¿êÆæÿ™èþ§óþÔ¶ý… Oò³ MNC Ë Ð@þË¯@þ MæüÍVóü A¯@þ$Mæü*Ë Ð@þ$ÇÄ¶ý¬ {ç³†Mæü*Ë {ç³¿êÐéË¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 
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M.Com. DEGREE EXAMINATION, DECEMBER - 2018 

Second Year 

Management of Information Systems 

Time : 3 Hours  Maximum Marks : 70 

 

                                              Section - A (4 x 5 = 20) 

Answer any Four of the following 

 

Q1) a) Query language. 

    MæüÓÈ Ìê…VóüÓi. 

 b) DBMS. 

    DBMS. 

  c) Data Communication. 

    yóþsê MæüÐèþ$*Å°MóüçÙ¯Œþ.   

 d) System design. 

    íÜçÜtÐŒþ$ yìþgñýŌ Œþ. 

 e) Decision Marketing. 

    yðþíÜçÙ¯Œþ Ðèþ*ÆðÿPsìý…VŠü. 

 f) Information Systems. 

    çÜÐèþ*^éÆæÿ ÐèþÅÐèþçÜ¦Ë$. 

 g) MIS. 

    MIS. 

 h) SDLC. 

    SDLC.   

     Section - B (2 x 10 = 20) 

Answer any Two of the following  
 

Q2) Write about the evolution of Information system. 

 çÜÐèþ*^éÆæÿ Ð èþÅÐèþçÜ¦ Äñý$$MæüP BÑÆ>ÂÐé°² Væü*Ça {ÐéÄæý$$Ðèþ$$. 
 

Q3)  Write an essay about Information Resource Management. 

 çÜÐèþ*^éÆæÿ Ð èþ¯èþÆæÿ$Ë °ÆæÿÓçßý×ýò³O ÐéÅÝë°² {ÐéÄæý$$Ðèþ$$. 



   

 

 

 

Q4)  Briefly explain the functional areas of information system with suitable diagram. 

 çÜÐèþ*^éÆæÿ Ð èþÅÐèþ çÜ¦ Äñý$$MæüP çœ…„æü¯èþÌŒý HÇÄæý*Ë¯èþ$ çÜÇÄñý$Ō èþ ç³sêË™ø Mæü$Ïç³¢…V> ÑÐèþÇ…ç³#Ðèþ$$. 

 
Q5) Explain Data Communication concepts in detail. 

 §æþ™é¢…Ôèý ¿êÐèþ{ç³ÝëÆæÿ ¿êÐèþ¯èþË¯èþ$ Væü*Ça ÑÐèþÇ…ç³#Ðèþ$$. 

 

      Section - C (2 x 15 = 30) 

Answer any Two of the following 

  

  

Q6) How the Software Engineering qualities can be assured in real life? Explain. 

 Ýë‹œtÐóþÆŠÿ C…h±Ç…VŠü ¯é×ýÅ™èþËMæü$ H Ñ«§æþ…V> àÒ$ ´÷…§æþVæüËÐèþ$$? ÑÐèþÇ…ç³#Ðèþ$$. 

 

Q7) How would you implement DBMS? Explain. 

 DBMS ¯èþ$  H Ñ«§æþ…V> AÐèþ$Ë$ ç³Ææÿ^èþÐèþ^èþ$a? ÑÐèþÇ…ç³#Ðèþ$$. 
 

Q8) Explain the role of computers in MIS. 

 MIS ÌZ Mæü…ç³NÅrÆæÿÏ ´ë{™èþ¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

 
Q9) State the objectives of MIS. 

 MIS Äñý$$MæüP «§óþÅÄæý*Ë¯èþ$ õ³ÆöP¯èþ$Ðèþ$$.  

  

��� 
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M.Com. DEGREE EXAMINATION, DECEMBER - 2018 

 Second Year 

A - ACCOUNTING 

Accounting: Advanced Financial Accounting 

Time : 3 Hours  Maximum Marks : 70 

 

                                               Section - A (4 x 5 = 20) 

Answer any Four of the following 

 

 

Q1) a) Super Profits Method. 

    A§æþ¯èþç³# Ìê¿êË ç³§æþ®†. 

 b) Purchase Consideration. 

    Mö è̄þ$VøË$ {ç³†çœË…. 

  c) Objectives of Financial Accounting 

    Ñ™èþ¢ AMú…sìý…VŠü  E§óþªÔéË$. 

 d) Yield basis Method. 

    Æ>ºyìþ ç³§æþ®†. 

 e) Financial Report. 

    Ñ™èþ¢ °Ðóþ¨Mæü. 

 f) Interest of Minority shareholders. 

    AËµ çÜ…RêÅMæü Ðésê§éÆæÿ$Ë BçÜMìü¢. 

 g) Unrealised Profit. 

    Aç³ÇçÜP−–™èþ Ìê¿æýÐèþ$$  

 h) Objectives of Human Resource Accounting. 

    çÐèþ*¯èþÐèþ Ðèþ¯èþÆ æÿ$Ë AMú…sìý…VŠü «§óþÅÄæý*Ë$. 
 



   

 

 

 

  

     Section - B (2 x 10 = 20) 

Answer any Two of the following  

 

Q2) What is Goodwill? Explain illustrate the different methods of calculating Goodwill. 

 Væü$yŠþÑÌŒý A¯èþV>¯óþÑ$? Væü$yŠþÑÌŒý ÌñýMìüP…^óþ ç³§æþ®™èþ$Ë¯èþ$ E§éçßýÆæÿ×ý™ø {ÐéÄæý$$Ðèþ$$. 

 

Q3)  Explain merits and demerits of Ratio Analysis. 

 °çÙµ™èþ$¢Ë ÑÔóýÏçÙ×ý ÐèþË¯èþ Ìê¿æý¯èþÚëtË¯èþ$ ÑÐèþÇ…^èþ$Ðèþ$$. 

 

Q4)  Madhu Co. Ltd. Acquired all shares in Madava Co. Ltd. On 1
st
 Jan 2010. Their Bal-

ance Sheets on 31-12-2010 were as follows : 

 

 

 Liabilities Madhu Madav Assets Madhu Madav  

    Co. Ltd. Co. Ltd.  Co. Ltd. Co. Ltd. 

  

 Share Capital 50,000 30,000 Buildings 25,000 15,000 

 

 General Reserve 20,000 15,000 Machinery 10,000 10,000 

 (1-1-10) 

 

 Profit & Loss a/c 25,000 10,000 Share in  50,000 - 

      Madav  Co. Ltd.  

       

  Creditors 20,000 15,000 Stock 15,000 20,000  

       

      Debtors 10,000 18,000 

       

      Cash 5,000 7,000 
 

    1,15,000 70,000  1,15,000 70,000 

 On 1-1-2010 Madav Co. Ltd. P & L A/c was showing a credit balance of Rs. 3,000/-

prepare consolidated Balance Sheet. 

 Ðèþ$«§æþ$ Mæü…ò³± ÍÑ$sñýyŠþ, Ðèþ*§æþÐŒþ Mæü…ò³± ÍÑ$sñýyŠþÌZ 2010 f¯èþÐèþÇ 1Ðèþ ™óþ¨¯èþ ÐésêË°²…sìý° Mö¯èþ$VøË$ ^óþíÜ…¨. ÐéÇ 
Äñý$$MæüP BíÜ¢&Aç³šË ç³sîýtË$ 2010 yìþÔèý…ºÆŠÿ 31Ðèþ ™óþ©¯èþ D {Mìü…¨ Ñ«§æþ…V> Ðèþ#¯é²Æÿ$$. 

 



   

 

 
 

 
 Aç³šË$Ðèþ$«§æþ$ Ðèþ$«§æþÐ Œþ BçÜ$¢Ë$ Ðèþ$«§æþ$ Ðèþ*«§æþÐŒþ 

 

 Ðésê Ðèþ$*Ë«§æþ¯èþÐèþ$$  50,000 30,000 ¿æýÐèþ¯éË$ 25,000 15,000 

  

 Ýë«§éÆæÿ×ý ÇfÆæÿ$Ó  20,000 15,000 Äæý$…{™éË$  10,000 10,000 

 (1&1&2010) 
 
 Ìê¿æý¯èþÚëtË Rê™é 25,000 10,000 Ðèþ*«§æþÐŒþ Mæü…ò³±ÌZ ÐésêË$  50,000 - 

 

 º$$×ý §é™èþË$ 20,000 15,000 çÜÆæÿ$Mæü$ 15,000 20,000 

      º$$×ý{VæüçÜ$¢Ë$  10,000 18,000 

      ¯èþVæü§æþ$  5,000 7,000 

    1,15,000 70,000  1,15,000 70,000 

 

 Ðèþ*«§æþÐŒþ Mæü…ò³± Ìê¿æý¯èþÚëtË Q™é 1&1&2010 Ææÿ*. 3,000/---& {MðüyìþsŒý °ËÓ ^èþ*ç³#^èþ$¯èþ²¨. HMîüMæü–™èþ BíÜ¢& Aç³šË ç³sîýt 
™èþÄæý*Ææÿ$ ^óþÄæý$…yìþ.  

  

Q5) From the following information calculate the value of Goodwill of the Business. 

 

 a) Average capital employed in the business Rs. 40,000 

b) Net Trading Profit of the firm for the past 4 years Rs. 12,200/-, 11,000, 2,000, 

21,000. 

c) Rate of  Interest expected from Capital @ 10%. 

d) Fair Remuneration to the services Rs. 3,600/-. 

e) 3 years purchase of additional Super profits on the basis of average profits of 

previous four years be treated as Goodwill.  

 D {Mìü…¨ ÑÐèþÆ>Ë$ JMæü ÐéÅ´ëÆæÿ çÜ…çÜ¦Mæü$ ^ðþ…¨¯èþÑ. B ÐéÅ´ëÆæÿ çÜ…çÜ¦̄ èþ$ °ÆæÿÓíßý…^óþ ÐéÅ´ëÆæÿçÜ$¢° Væü$yŠþÑÌŒý¯èþ$ ÌñýMìüP…^èþ…yìþ. 

 a) Ñ°Äñý*W…_¯èþ Ðèþ$*Ë«§æþ¯èþ… Ææÿ*. 40,000. 



   

 

b) Væü™èþ 4 çÜ… || Ë Ìê¿êË$ ÐèþÆæÿ$çÜV> Ææÿ* ||̀ 12,200, Ææÿ*|| 11,000, Ææÿ* || 2,000, Ææÿ*|| 21,000  

c) Ðèþ$*Ë«§æþ¯èþ…ò³O Ðèþ*ÆðÿPsŒý Æóÿr$ {ç³M>Ææÿ… Ðèþyîþz 10% 

d) ÐéÅ´ëÆæÿçÜ$¢° õÜÐèþËMæü$, Ðèþ$ÆöMæü E´ë¨ÌZ E…sôý ËÀ…^óþ {ç³†çœË… Ææÿ*|| 3,600/-. 

e) Væü™èþ ¯éË$Væü$ çÜ…Ðèþ™èþÞÆ>Ë çÜVæür$ Ìê¿æý… {´ë†ç³¨Mæüò³O 3 çÜ… || Ë A§æþ¯èþç³# Ìê¿êË Mæü¯èþ$VøË$ è̄þ$ Væü$yŠþÑÌŒýV> ÑË$Ðèþ 
MæüsêtÍ. 

 

    Section - C (2 x 15 = 30) 

 

Answer any Two of the following 

  

  
Q6) What do you understand by Valuation of Shares? Explain the methods of Valuation. 

  ÐésêË Ðèþ$¨…ç³# A¯èþV> ó̄þÑ$? Ðèþ$¨…ç³# ç³§æþ®™èþ$Ë¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

Q7) Explain the significance of Analysis of Financial Statements.  

 BÇ¦Mæü °Ðóþ¨MæüË ÑÔóýÏçÙ×ý Äñý$$MæüP {´ëÐèþ$$QÅ™èþ¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

Q8) Following the Balance Sheet of a Limited Company as on 31
st
 March 2015. 

 Ðèþ*Ça 31, 2015 ¯ésìý JMæü ÍÑ$sñýyŠþ Mæü…ò³± BíÜ¢&Aç³šË ç³sîýt ¨Væü$Ðèþ DÄæý$ºyìþ¯èþ¨. 

Balance Sheet 

   Liabilities Rs. Assets Rs.   

   Share Capital 2,00,000 Land & Buildings 1,40,000 

   General Reserve 40,000 Plant and Machinery 3,50,000 

   12% Debentures 4,20,000 Stock 2,00,000 

   Creditors 1,00,000 Debtors 1,00,000 

   Bills Payable 50,000 Bills Receivable 10,000 

   Profit and Loss a/c 30,000 Cash 40,000 



   

 

     8,40,000  8,40,000 

 

BíÜ¢&Aç³šË ç³sîýt 

   Aç³šË$   Ææÿ*.  BçÜ$¢Ë$  Ææÿ*.     

    Ðésê Ðèþ$*Ë«§æþ¯èþ… 2,00,000 ¿æý*Ñ$ Ðèþ$ÇÄæý$$ ¿æýÐèþ¯éË$ 1,40,000 

   Ýë«§éÆæÿ×ý ÇfÆŠÿÓ 40,000 ´ëÏ…r$ & Äæý$…{™éË$ 3,50,000 

   12% yìþ»ñý…^èþÆæÿ$Ï 4,20,000 çÜÆæÿ$Mæü$ °ËÓ 2,00,000 

   º$$×ý§é™èþË$ 1,00,000 º$$×ý{VæüçÜ$¢Ë$ 1,00,000 

   ^ðþÍÏ…ç³# ¼Ë$ÏË$ 50,000 ¡çÜ$Mæü$¯èþ² ¼Ë$ÏË$ 10,000 

   Ìê¿æý¯èþÚëtË Rê™é 30,000 ¯èþVæü§æþ$ 40,000 

     8,40,000  8,40,000 

 Calculate : 

   ÌñýMìüP…^èþ…yìþ : 

 a)  Current Ratio 

  {ç³çÜ$¢™èþ °çÙµ†¢. 

 b)  Quick Ratio 

  ™èþÓÇ™èþ °çÙµ†¢. 

 c)  Debit Equity Ratio 

  Aç³š DMìüÓsîý °çÙµ†¢. 

 d)  Proprietory Ratio  

  Äæý*fÐèþ*¯èþÅ °çÙµ†¢. 

 

Q9) From the following Balance Sheet, find the value of shares by : 

a) Yield Method 



   

 

b) Net Asset Method. 

 

 

  D {Mìü…¨ BíÜ¢&Aç³šË ç³sîýt B«§éÆæÿ…V> ÐésêË ÑË$Ðèþ¯èþ$ 

 a) Æ>ºyìþ ç³§æþ®† 

b) °MæüÆæÿ BçÜ$¢Ë ç³§æþ®† §éÓÆ> Mæü¯èþ$Vö è̄þ…yìþ. 

 

Balance Sheet (31-3-2013) 

  Liabilities  Rs. Assets Rs.   

 Issued Capital  Fixed Assets 5,00,000 
 40,000 equity shares @ 10/- each 4,00,000 

 Reserve  30,000 Current Assets 2,00,000 

  Profit & Loss a/c 80,000 Goodwill 40,000 

  6% Debentures 1,00,000  

  Creditors  1,30,000  

     7,40,000  7,40,000 

 

 BíÜ¢&Aç³šË ç³sîýt (31&3&2013) 

   Aç³šË$   Ææÿ*.  BçÜ$¢Ë$  Ææÿ*.     

   gêÈ ^óþíÜ¯èþ Ðésê Ðèþ$*Ë«§æþ¯èþ… 4,00,000 íÜ¦Æ>çÜ$¢Ë$ 5,00,000 

   40,000 ÐésêË$ JMöPMæüPsìý 
   @ 10 ^öç³š¯èþ 
   ÇfÆŠÿÓ  30,000 {ç³çÜ$¢™èþ BçÜ$¢Ë$  2,00,000 

   Ìê¿æý ¯èþÚëtË Rê™é 80,000 Væü$yŠþÑÌŒý  40,000 

    6% yìþ»ñý…^èþÆæÿ$Ï 1,00,000 

   º$$×ý§é™èþË$ 1,30,000 



   

 

     7,40,000  7,40,000 

 

 

 

 On 31
st
 March 2013 the Fixed Assets were independently valued at Rs. 3,50,000 and 

the Goodwill at Rs. 50,000. The Net profits for the 3 years were Rs. 51,600/-,            

Rs. 52,000/- and Rs. 51,650/- of which 20% was placed to Reserve this proportion 
being considered reasonable in the Industry in which the company is engaged and 

where a Fair Investment Return may be taken at 10%. 

 ™óþ¨ 31&3&2013¯èþ íÜ¦Æ>çÜ$¢Ë$ Ææÿ*. 3,50,000/-& Ðèþ$ÇÄæý$$ Væü$yŠþÑÌŒý ÑË$Ðèþ Ææÿ*. 50,000/-& ÑË$Ðèþ MæüsêtÆæÿ$. 
{Mìü…§æþsìý Ðèþ$*yæþ$ çÜ…Ðèþ™èþÞÆ>Ë Ìê¿êË$ Ææÿ*. 51,600/& Ææÿ*. 52,000/& Ðèþ$ÇÄæý$$ Ææÿ*. 51,650/& ÇfÆŠÿÓ °«̈ Mìü 
20%¯èþ$ º§æþÎ ^óþÄæý$$§æþ$Ææÿ$. Ýë«§éÆæÿ×ý Æ>ºyìþ Æóÿr$ 10%. 

 

 

  

��� 
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M.Com. DEGREE EXAMINATION, DECEMBER - 2018 

 Second Year 

A - ACCOUNTING 

Accounting: Advanced cost  and Management Accounting 

Time : 3 Hours  Maximum Marks : 70 

 

                                              Section - A (4 x 5 = 20) 

Answer any Four of the following 

 

 

Q1) a) Qualifications of the Cost Accountant. 

    ÐèþÅÄæý$ AMú…sñý…sŒý AÆæÿá™èþË$. 

 b) Variable Cost. 

    ^èþÆæÿ ÐèþÅÄæý$Ðèþ$$. 

  c) Direct Costing. 

    {ç³™èþÅ„æü ÐèþÅÄæý*…MæüÐèþ$$. 

 d) Joint Product. 

    EÐèþ$Ãyìþ ÐèþçÜ$¢Ðèþ#. 

 e) Fixed Budget. 

    íÜ¦Ææÿ ºyðþjsŒý. 

 f) Learning Curve Analysis. 

    A«§æþÅÄæý$¯èþÆóÿQ ÑÔóýÏçÙ×ý. 

 g) Performance Report. 

    ÝëÐèþ$Ææÿ®üÅç³# °Ðóþ¨Mæü. 

 h) Cost Apportionment. 

    ÐèþÅÄæý$ Ñ¿æýf¯èþ. 

 



   

 

 

 

                           Section - B (2 x 10 = 20) 

      Answer any Two of the following  

 

 

Q2) Discuss the relationship between Cost Accounting and Financial Accounting. 

 ÐèþÅÄæý$ AMú…sìý…VŠü, Ñ™èþ¢ AMú…sìý…VŠü Ðèþ$«§æþÅ çÜ…º…«§é°² ^èþÇa…^èþ$Ðèþ$$. 

 

Q3)  Discuss the nature and scope of Cost Accounting. 

 ÐèþÅÄæý$ AMú…sìý…VŠü çÜÓ¿êÐèþÐèþ$$, ç³Ç«̈ ° ^èþÇa…^èþ…yìþ. 

 

Q4)  In a factory there are 3 Production Departments A, B, C and two Service Depart-

ments X and Y. The following are overheads allocated to various departments. 

   Production Dept : Rs. 

    A 15,000 

    B 27,000 

    C 19,000 

   Service Dept :  

    X 3,000 

    Y 5,000 

 The expenses of Service Department allocated in the following percentages.  

   Departments A B C X Y 

   X 45% 15% 30% - 10% 

   Y 60% 35% - 5%  - 

 Allocate the expenses of Service Departments to Production Departmentation re-

peated distributed. 

 



   

 

 
 JMæü E™éµ§æþMæü çÜ…çÜ¦ÌZ A, B, C A¯èþ$ Ðèþ$*yæþ$ E™èþµ†¢ yìþ´ëÆæÿ$tÐðþ$…r$Ï, X,Y A¯èþ$ Æðÿ…yæþ$ õÜÐé yìþ´ëÆæÿ$tÐðþ$…sŒýË$ E¯é²Æÿ$$. 

B yìþ´ëÆæÿ$tÐðþ$…sŒýËMæü$ MóüsêÆÿ$$…^èþºyìþ¯èþ KÐèþÆŠÿ òßýyŠþÞ {Mìü…¨ Ñ«§æþÐèþ$$V> E¯é²Æÿ$$. 

           E™èþµ†¢ Dept : Ææÿ*. 
    A 15,000 

    B 27,000 

    C 19,000 

             õÜÐé yìþ´ëÆæÿ$tÐ ðþ$…r$Ï  

    X   3,000 

    Y 5,000 

 {ç³†õÜÐé yìþ´ëÆæÿ$tÐðþ$…sŒý QÆæÿ$aË ç³…í³×ìý Ôé™èþÐèþ$$Ë {Mìü…¨ CÐèþÓºyìþ¯èþÑ :  

   yìþ´ëÆæÿ$tÐðþ$…r$Ï A B C X Y 

   X 45% 15% 30% - 10% 

   Y 60% 35% - 5%  - 

 GyŠþ ™ðþyæþMæü ç³…í³×îý ç³§æþ®†ò³O õÜÐé yìþ´ëÆæÿ$tÐðþ$…sŒýÞ, QÆæÿ$aË E™èþµ†¢ yìþ´ëÆæÿ$tÐðþ$…r$ËMæü$ ç³…í³×ìý ^óþÄæý$$Ðèþ$$.  

Q5) Velu Constructions obtained a contract for construction of a bridge the value of the 

Contract is Rs. 20,00,000, the contract commenced on 1-4-2017. The following         
information is obtained from their records as on 31-12-2017. 

      Rs. 

 Material purchased 2,75,000 

 Materials issued from stores 80,000 

 Direct wages paid 3,56,000 

 Architect fee  48,000 

 General Establishment charges 18,500 

 



   

 

 Cash received  from Contractee being   

 75% of work certified 12,00,000 

  
 Work Uncertified  96,500 

 Plant sent to site  6,00,000 

 Other Information : 

 a) Wages accrued on 31-12-2017 Rs. 24,000, materials at site on 31-12-2017        

Rs. 15,000 

 b) Materials worth Rs. 20,000 were damaged by floods. 

 c) Depreciation on plant is to be charged @ 20%. 

 Prepare Contract Account for the year ended 31-12-2017. Indicating the profit you  

consider appropriate to be taken to Profit and Loss A/c. Show calculations of Work in 

progress and indicate their presentation in the Balance Sheet.  

 JMæü {¼yŠþj °Æ>Ã×ý… MøçÜ… ÐóþË$ Mæü è̄þ{çÜt„æü¯Œþ Mæü…ò³± M>…{sêMæü$t ´÷…¨…¨. M>…{sêMæü$t ÑË$Ðèþ Ææÿ*. 20,00,000. M>…{sêMæü$t 
ç³° 1&4&2017 {´ëÆæÿ…¿æý… AÆÿ$$…¨. 31&12&17¯èþ ÐéÇ ç³#çÜ¢M>Ë¯èþ$…yìþ {Mìü…¨ çÜÐèþ*^éÆæÿ… Ë¿æýÅÐðþ$O…¨. 

      Ææÿ*. 

 Ððþ$sîýÇÄæý$ÌŒý Mö è̄þ$VøË$  2,75,000 

 ÝùtÆŠÿÞ¯èþ$…yìþ gêÈ^óþíÜ¯èþ Ððþ$sîýÇÄæý$ÌŒýÞ 80,000 

 ^ðþÍÏ…_¯èþ {ç³™èþÅ„æü Ðóþ™èþ¯éË$ 3,56,000 

 °Æ>Ã×ý ÕÍµ ïœk  48,000 

 Ýë«§éÆæÿ×ý GÝët¼Ï‹ÙÐðþ$…sŒý QÆæÿ$aË$ 18,500 

 «§æþ–ÒMæüÆæÿ×ý ´÷…¨¯èþ ç³°ÌZ 75% Ðóþ$ÆæÿMæü$ M>…{sêMæü$t̄ èþ$…yìþ ´÷…¨¯èþ ¯èþVæü§æþ$ 12,00,000 

 «§æþ–ÒMæüÆæÿ×ý ´÷…§æþ° ç³°  96,500 

 ç³° çÜ¦Ìê°Mìü ç³…í³¯èþ ´ëÏ…r$ AçÜË$ «§æþÆæÿM æü$ 6,00,000 

 



   

 

 C™èþÆæÿ çÜÐèþ*^éÆæÿ… :  

 a) 31&12&2017 è̄þ ^ðþÍÏ…^éÍÞ¯èþ Ðóþ™èþ¯éË$ Ææÿ*. 24,000. 31&12&17¯èþ ç³° çÜ¦Ë… Ðèþ§æþª E¯èþ² 
Ððþ$sîýÇÄæý$ÌŒý Ææÿ*.15,000. 

 b) ÐèþÆæÿ§æþË M>Ææÿ×ý…V> Ææÿ*. 20,000 ÑË$Ðèþ VæüË Ððþ$sîýÇÄæý$ÌŒý ^ðþyìþ´ùÆÿ$$…¨. 

 c) ´ëÏ…r$ò³O 20% ™èþÆæÿ$Væü$§æþË ^éÈj ^óþÄæý*Í. 

 31&12&17™ø A…™èþÐèþ$Äôý$Å çÜ…Ðèþ™èþÞÆ>°Mìü M>…{sêMæü$t Rê™é¯èþ$ ™èþÄæý*Ææÿ$^óþÄæý$$ Ìê¿æý¯èþÚëtË Rê™éMæü$ Ðèþ$ãå…^óþ 
Ìê¿ê°² ^èþ*ç³…yìþ. fÆæÿ$Væü$™èþ$¯èþ² ç³° ÑË$Ðèþ ÌñýMìüP…^èþyé°² è̂þ*í³, BíÜ¢ Aç³šË ç³sîýtÌZ Mæü°í³…^óþ A…ÔéË$ ^èþ*ç³…yìþ. 

 

        Section - C (2 x 15 = 30) 

 

Answer any Two of the following 

  

  
Q6) From the following particulars prepare budget for 60%, 80% and 100% capacities. 

  Level of activity 50% (5,000 units) 

 Materials  Rs. 10 per unit 

 Labour  Rs. 5 per unit 

 Direct Expenses Rs. 3 per unit 

 Factory overheads Rs 50,000 (10% fixed) 

 Administration overheads Rs. 1,00,000 (fixed) 

 Selling overheads Rs.30,000 (30% varia-

ble)  

 D {Mìü…¨ çÜÐèþ*^éÆæÿÐèþ$$ ¯èþ$…yìþ 60%, 80%, 100% ÝëÐèþ$Ææÿ®üÅÐèþ$$ §æþVæüYÆæÿ ºyðþjsŒý ™èþÄæý*Ææÿ$^óþÄæý$…yìþ. 

 ÝëÐèþ$Ææÿ®üÅç³# Ýë¦Æÿ$$ 50% (5000 Äæý$*°r$Ï) 



   

 

 Ðèþ$$yìþ ç³§éÆ>¦Ë$  Ææÿ*. 10 Äæý$*°sŒý «§æþÆ æÿ  

 {ÔèýÐèþ$    Ææÿ*. 5 Äæý$*°sŒý «§æþÆæÿ 

 {ç³™èþÅ„æü ÐèþÅÄæý*Ë$ Ææÿ*. 3 Äæý$*°sŒý «§æþÆæÿ 

 MæüÆ>ÃV>Ææÿ ç³Æø„æü ÐèþÅÄæý*Ë$ Ææÿ*. 50,000 (10% íÜ¦Ææÿ 
ÐèþÅÄæý$…) 

 ç³Ç´ëË¯èþ ç³Æø„æü ÐèþÅÄæý*Ë$ Ææÿ*. 1,00,000 (íÜ¦Ææÿ 
ÐèþÅÄæý$…) 

 AÐèþ$ÃMæüç³# ç³Æø„æü ÐèþÅÄæý*Ë$ Ææÿ*. 30,000 (30% è̂þÆæÿ 
ÐèþÅÄæý$…) 

Q7) From the following Information compute the Material Variance :  

    Standard  Actual 

Material  Qty Unit Total Qty Unit Total 
    (kg) (price)   Rs. (kg) (price)   Rs. 

        Rs.       Rs. 
 

  A  40 10 400 20 35 700   

  B  20 20 400 10 20 200 

 C  20 40 800 30 30 900 

Standard output = 80 units   

Actual output = 80 units    

 {Mìü…¨ çÜÐèþ*^éÆæÿÐèþ$$¯èþ$…yìþ ÐèþçÜ$¢ ÑçÜ¢−–†¢° Væü×ìý…^èþ…yìþ. 

     {ç³Ðèþ*×îýMæü–™èþ… ÐéçÜ¢ÑMæü… 

ÐèþçÜ$¢Ðèþ#         ç³ÇÐèþ*×ý…   Äæý$*°sŒý  Ððþ$$™èþ¢…                 ç³ÇÐèþ*×ý…    Äæý$*°sŒý Ððþ$$™èþ¢… 
    (Mðü.h) ( «§æþÆæÿ Ææÿ*| |)   (Ææÿ*.)  (Mðü.h) ( «§æþÆæÿ Ææÿ* | |)   (Ææÿ*.) 

 
  A  40 10 400 20 35 700   



   

 

  B  20 20 400 10 20 200 

 C  20 40 800 30  30 900 

{ç³Ðèþ*×ý E™èþµ†¢ = 80 Äæý$*°r$Ï 

ÐéçÜ¢ÑMæü E™èþµ†¢ = 80 Äæý$*°r$Ï 

Q8) What are the objects  and uses of Control Reports? 

 °Äæý$…{™èþ×ý °Ðóþ¨MæüË Ë„>ÅË$, {ç³Äñý*f¯éË$ HÑ$? 

Q9) Describe the techniques of preparing Sales and Cash budgets. 

 AÐèþ$ÃM>Ë, ¯èþVæü§æþ$ ºyðþjsŒýË$ ™èþÄæý*Ææÿ$ ^óþÄæý$$ ç³§æþ®™èþ$Ë¯èþ$ ÑÐèþÇ…^èþ$Ðèþ$$. 

 

  

��� 
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                                             Section - A (4 x 5 = 20) 

Answer any Four of the following 
D {Mìü…¨ Ðé°ÌZ HÐóþ° ¯éË$Væü$ {ç³Ôèý²ËMæü$ çÜÐèþ*«§é¯èþÐèþ$$Ë$ Æ>Äæý$…yìþ 

 

Q1) a) Permanent Account Number. 

    ÔéÔèýÓ™èþ Rê™é çÜ…QÅ. 

 b) Incidence of tax. 

    ç³¯èþ$² Ñ«̈ …ç³#. 

  c) Gross Annual Value. 

    çÜ*¦Ë ÐéÇÛMæü ÑË$Ðèþ. 

 d) Income from House Property. 

    Væü–çßýíÜ¦ ¯èþ$…_ Ðèþ_a¯èþ B§éÄæý$…. 

 e) Search and Seizure 

    ÔZ«̈ …^èþ$r Ðèþ$ÇÄæý$$ ÝëÓ«©¯èþÐèþ$$. 

 f) Hindu Undivided Family. 

    íßý…§æþ* AÑ¿æýMæü¢ Mæü$r$…ºÐèþ$$. 

 g) Refund of Tax. 

    ç³¯èþ$² Ðéç³çÜ$Þ 

 h) Revisions 

    ç³#¯èþ@ç³ÇÖË¯èþ. 

 



   

 

 

     Section - B (2 x 10 = 20) 

Answer any Two questions 
D {Mìü…¨ Ðé°ÌZ HÐðþ Ō é Æðÿ…yæþ$ {ç³Ôèý²ËMæü$ çÜÐèþ*«§é è̄þÐèþ$$ Æ>Äæý$…yìþ 

Q2) Define Agriculture Income. Explain the features of Agriculture Income in detail. 

 ÐèþÅÐèþÝëÄæý$ B§éÄæý*°² °ÆæÿÓ_…_, ÐèþÅÐèþÝëÄæý$ B§éÄæý$… Äñý$$MæüP Ë„æü×êË¯èþ$ ÑçÜ¢−–™èþ…V> ÑÐèþÇ…^èþ…yìþ. 
 

Q3)  How is Incidence of Tax based on residential status of an assessee?   

 AòÜïÜÞ Äñý$$MæüP °ÐéçÜ {ç³†ç³†¢ò³O ç³¯èþ$² Ñ«̈ …ç³# H Ñ«§æþ…V> B«§éÆæÿç³yìþ E…r$…¨? 
 

Q4)  From the following particulars furnished by Mr. X for the year ended 31-3-2017, you 

are requested to compute his total income and tax payable for the assessment year 
2017-18. 

 D {Mìü…¨ ÑÐèþÆ>Ë¯èþ$ Ðèþ*Ça 31--, 2017 ¯ésìýMìü ‘X’ çÜÐèþ$Çµ…^èþyæþ… fÇW¯èþ¨. 2017&18 ç³¯èþ$² °Æ>®Ææÿ×ý çÜ…Ðèþ™èþÞÆ>°Mìü 
Ððþ$$™èþ¢… B§éÄæý$… Ðèþ$ÇÄæý$$ ^ðþÍÏ…^èþ§æþVæüY ç³¯èþ$²¯èþ$ ÌñýMìüP…^èþ…yìþ. 
a) Mr. X retired on 31-12-2016 at the age of 58, after putting in 25 years and           

9 months of service, from a private company at Mumbai. 

 Mr. ‘X’ Ðèþ$$…ºÆÿ$$ÌZ° {ò³•ÐóþsŒý Mæü…ò³±ÌZ 25 çÜ…Ðèþ™èþÞÆ>Ë 9 ¯ðþËË$ ç³°^óþíÜ 58 çÜ…Ðèþ™èþÞÆ>Ë ÐèþÄæý$çÜ$Þ 
Ðèþ_a¯èþç³šyæþ$ A¯èþV> (31&12&2016)¯èþ ç³° è̄þ$…yìþ ÑÆæÿÐèþ$×ý ´÷…¨¯éyæþ$. 

 b) He was paid a salary of � 25,000 p.m. and House Rent Allowance of � 6,000 

p.m. He paid Rent of  � 6,500 p.m. during his tenure of service. 

 A™èþ¯èþ$ ç³°^óþçÜ$¢̄ èþ² çÜÐèþ$Äæý$…ÌZ ¯ðþËMæü$ i™èþ… M 25,000, C…sìý A§ðþª ¿æý™èþÅÐèþ$$ M 6,000 ð̄þËMæü$ ¡çÜ$Mö°       
M 6,500 C…sìý A§ðþª ^ðþÍÏ…^éyæþ$. 

c) On retirement, he was paid a Gratuity of  � 3,50,000. He was not covered by 

the payment of Gratuity Act. His average salary in this regard may be taken as         

� 24,500. Mr. X had not received any other Gratuity at any point of time earli-

er, other than this Gratuity. 

 ÑÆæÿÐèþ$×ý çÜÐèþ$Äæý$…ÌZ A™èþ¯èþ$ ´÷…¨¯èþ {V>r*Åsîý M 3,50,000. Mr. ‘X’ {V>r*Åsîý ^ðþÍÏ…ç³#Ë ^èþrtÐèþ$$ {Mìü…¨Mìü 
Æ>yæþ$. A…§æþ$ÐèþË¯èþ A™èþ° çÜÆ>çÜÇ i™èþÐèþ$$V> M 24,500 ¡çÜ$MøÐèþr… fÇW…¨. C¨ M>Mæü$…yé A™èþ¯èþ$ H 
çÜÐèþ$Äæý$…ÌZ¯èþ$ C¨ÐèþÆæÿMæü$ {V>r*Åsîý ¡çÜ$Mö¯èþÌôý§æþ$. 

d) He had accumulated leave of 15 days per annum during the period of his ser-

vice; this was encashed by Mr. X at the time of his retirement. A sum of � 

3,15,000 was received by him in this regard. Employer allowed 30 days leave 

per annum. 
 Mr. X E§øÅVæü çÜÐèþ$Äæý$…ÌZ A™èþ¯èþ$ çÜ…Ðèþ™èþÞÆ>°Mìü 15 òÜËÐèþ#Ë¯èþ$ Ñ°Äñý*W…^èþ$MøÌôý§æþ$. A™èþ¯èþ$ B 

òÜËÐèþ#Ë¯èþ$ yæþº$¾ Ææÿ*ç³Ðèþ$$ÌZ E§øÅVæü ÑÆæÿÐèþ$×ý çÜÐèþ$Äæý$…ÌZ Ðèþ*Ææÿ$aMö¯é²yæþ$. Äæý$fÐèþ*° 30 ÆøkË$ 
(çÜ…Ðèþ™èþÞÆ>°Mìü A è̄þ$Ðèþ$†…^éyæþ$). Ðésìý §éÓÆ> X ´÷…¨¯èþ Ððþ$$™èþ¢… M 3,15,000. 



   

 

e) After retirement, he ventured into textile business and incurred a loss of � 

80,000 for the period up to 31-3-2017. 

 ‘X’ E§øÅVæü ÑÆæÿÐèþ$×ý ´÷…¨¯èþ ™èþÆ>Ó™èþ ÐèþçÜ̂ ÐéÅ´ëÆæÿ…ÌZ {ç³ÐóþÕ…_, B ÐéÅ´ëÆæÿ…ÌZ 31&3&2017 ¯ésìýMìü 
´÷…¨¯èþ ¯èþçÙtÐèþ$$ M 80,000. 

f) Mr. X has invested � 62,500 in public Provident Fund and � 37,500 in Na-

tional Savings Certificates. 

 ‘X’ ç³¼ÏMŠü {´÷Ñyðþ…sŒý çœ…yŠþÌZ ò³sìýt̄ èþ ò³r$tºyìþ M 62,500 Ðèþ$ÇÄæý$$ ó̄þçÙ¯èþÌŒý õÜÑ…VŠüÞ çÜÇtíœM óüsŒýÞÌZ §é_ è̄þÑ           
M 37,500.  

 
Q5) From the following information compute the total income of the firm and tax payable 

by it for the Assessment year 2017-18: 

 JMæü çÜ…çÜ¦ Äñý$$MæüP {Mìü…¨ ÑÐèþÆ>Ë §éÓÆ> B çÜ…çÜ¦ Äñý$$MæüP Ððþ$$™èþ¢… B§éÄæý$… Ðèþ$ÇÄæý$$ ^ðþÍÏ…^èþ§æþVæüY ç³¯èþ$²¯èþ$ 2017&18 
AòÜ‹ÜÐðþ$…sŒý çÜ…Ðèþ™èþÞÆ>°Mìü ÌñýMìüP…^èþ…yìþ. 

      � 

 a) Profit  from an industrial undertaking established in backward  

   state in May 2008 40,000 

   Ðóþ$ 2008¯èþ Æ>çÙ‰…ÌZ° Ððþ¯èþ$Mæüºyìþ¯èþ {´ë…™èþ…ÌZ HÆ>µr$ ^óþíÜ¯èþ ç³Ç{ÔèýÐèþ$ §éÓÆ> Ðèþ_a è̄þ Ìê¿æý…. 40,000 

 b) Profit from business of poultry breeding. 30,000 

   Møâæýå ÐéÅ´ëÆæÿ…ò³O Ðèþ_a¯èþ Ìê¿æý…. 30,000 

 c) Short term capital gains 20,000 

   çÜÓËµ M>ÍMæü Ðèþ$*Ë«§æþ¯èþ Ìê¿êË$ 20,000 

 d) Long term capital gains 40,000 

   ©ÆæÿƒM>ÍMæü Ðèþ$*Ë«§æþ¯èþ Ìê¿êË$ 40,000 

 e) Interest from bank 6,000 

   »êÅ…Mæü$ è̄þ$…yìþ ´÷…¨¯èþ Ðèþyîþz 6,000 

f) Loss from house property � 10,000 on account of interest on loan taken to        

construct the property. 

 Væü–çßýíÜ¦ ¯èþ$…yìþ Ðèþ_a¯èþ ¯èþçÙt… M 10,000 (Væü–à°² °ÇÃ…^èþyé°Mìü ¡çÜ$Mæü$ è̄þ² ÌZ¯èþ$ò³O ç³yîþz) 

 g) Donation to approved charitable institution by Cheque. 15,000 

   §é™èþ–™èþÓ çÜ…çÜ¦ËMæü$ ^ðþMæü$P §éÓÆ> C_a è̄þ ÑÆ>âæý… 15,000 

         Section - C (2 x 15 = 30)  

Answer any Two questions. 
D {Mìü…¨ Ðé°ÌZ HÐðþ Ō é Æðÿ…yæþ$ {ç³Ôèý²ËMæü$ çÜÐèþ*«§é¯éË$ Æ>Äæý$…yìþ 

Q6) Enumerate the incomes which are exempted from Income Tax under sec-10 of In-

come Tax Act. 



   

 

 B§éÄæý$ ç³¯èþ$² ^èþrtÐèþ$$ òÜ„æü¯Œþ&10 {ç³M>Ææÿ… Ñ$¯èþàÆÿ$$…^èþºyìþ¯èþ B§éÄæý*Ë¯èþ$ ÌñýMìüP…^èþ…yìþ.  

Q7) What do you mean by “set-off and carry forward of losses”? Which losses can be     

carried forward?  
 ¯èþÚëtË¯èþ$ {MæüÐèþ$º©ªMæüÇ…_ Ðèþ$ÇÄæý$$ Ðèþ$$…§æþ$Mæü$ ¡çÜ$Mö°´ùÐèþ#r A¯èþV> HÑ$? H H ¯èþÚëtË¯èþ$ Ðèþ$$…§æþ$Mæü$ ¡çÜ$Mö° 

´ùÐèþÌñý¯ø ÑÐèþÇ…^èþ…yìþ. 
 
 

Q8) Mr. Ram submits you the following particulars for the previous year. Compute in-
come from business for the current year: 

 Æ>ÐŒþ$ D {Mìü…¨ çÜÐèþ*^éÆ>°² {ç³çÜ$¢™èþ çÜ…Ðèþ™èþÞÆ>°Mìü çÜÐèþ$Çµ…_¯éyæþ$. §é° è̄þ$…yìþ ÐéÅ´ëÆæÿ B§éÄæý*°² ÌñýMìüP… è̂þ…yìþ. 

 a) Profit as per Profit and Loss A/c Rs. 2,80,000 
   Ìê¿æý¯èþÚëtË Rê™é {ç³M>Ææÿ… Ìê¿æý… M 2,80,000  

 b) Donations to an approved institution Rs. 20,000 
   Væü$Ç¢…ç³# ´÷…¨¯èþ çÜ…çÜ¦Mæü$ ÑÆ>âæý… M 20,000 

 c) Interest on capital Rs. 10,000 
   Ðèþ$*Ë«§æþ¯èþ… Ò$§æþ Ðèþyîþz M 10,000 

 d) Patents acquired Rs. 25,000 
   õ³sñý…r$Ï §éÓÆ> çÜ…´ë¨…_…¨ M 25,000 

 e) Provision for Income Tax Rs. 10,000 
   B§éÄæý$ç³# ç³¯èþ$² HÆ>µr$ M 10,000 

 f) Provision for Sales Tax Rs. 18,000 
   AÐèþ$ÃMæüç³# ç³¯èþ$² HÆ>µr$ M 18,000 

 g) Bad debts written off Rs. 12,000 
   Æ>° »êMîüË Ææÿ§æþ$ª M 12,000 

 h) Provisions for Bad and Doubtful debts Rs. 14,000 
   Æ>°, çÜ…ÔèýÄæý*™èþÃMæü »êMîüËMæü$ HÆ>µr$ M 14,000 

 i) Interest on late payment of Sales Tax Rs. 8,000 
   BËçÜÅ…V> AÐèþ$ÃMæüç³# ç³¯èþ$² ^ðþÍÏ…_¯èþ…§æþ$Mæü$ Ñ«̈ …_¯èþ Ðèþyîþz M 8,000 

 j) Advertisement expenses (Gifts worth Rs. 2,000 were given  to each of the       

important customers) Rs. 20,000 
  {ç³Mæür¯èþ QÆæÿ$aË$ (M 2,000 ÑË$Ðèþ VæüË {ç³¡ Ðèþ$$QÅ Rê™é§éÆæÿ$Mæü$ Æÿ$$_a¯éÆæÿ$) M 20,000 

 k) Depreciation (Allowed upto Rs. 40,000 including on patents) Rs. 60,000 

  ™èþÆæÿ$Væü$§æþË (õ³sñý…rÏ™ø MæüÍí³ A¯èþ$Ðèþ$†…_¯èþ¨ M 40,000) M 60,000 

Q9) What do you mean by Advance Tax? What are the conditions of law to pay Advance 

Tax? 

 Ðèþ$$…§æþ$V> ç³¯èþ$² ^ðþÍÏ…^èþ$r A¯èþV>¯óþÑ$? Ðèþ$$…§æþ$V> ç³¯èþ$² ^ðþÍÏ…^èþ$rMæü$ E¯èþ² ^èþrt °º…«§æþ¯èþË$ HÑ$sìý? 


